Week 31 HW
Following the patterns we did in the class, fill in rows 1, 3 and 5 of the table below. The root verb is “thank (يَشْكُرُ)”. Note that we are using command verb here. I did few examples. You are welcome to do the entire table for triple the credit.

	
	me
	us
	him
	her
	them2M 
	them2F
	them3+M
	them3+M

	
You1M
	إِشْكُرْنِيِ
	إِشْكُرْنَا
	
	
	
	
	
	

	
You1F
	إِشْكُرْيِنِي
	إِشْكُرْيِنَا
	إِشْكُرْيِهُ
	إِشْكُرْيِهَا
	إِشْكُرْيِهُمَا
	إِشْكُرْيِهُمَا
	إِشْكُرْيِهُمَ
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You2M, 2F
	
	
	
	
	
	
	
	

	
You3+M
	إِشْكُرُوُنَي
	إِشْكُرُوُنا
	إِشْكُرُوُهُ
	إِشْكُرُوُهَا
	إِشْكُرُوُهُمَا
	إِشْكُرُوُهُمَا
	إِشْكُرُوُهُمْ
	إِشْكُرُوُهُنَّ

	

You3+F
	

	
	
	
	
	
	
	



